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C* . »
c* A COMPARISON OF PARAMETERS ESTIMATING METHODS IN .
C‘ MULTIPLE REGRESSION ANALYSIS BY LEAST SQUARE METHOD, *
C* RIDGE REGRESSION WITH PRIOR INFORMATION METHOD .
C* AND GENERALIZRBD LIU KRJIAN METHOD *

C*  WHEN EXISTING MULTICOLLINEARITY AMONG INDEPENDENT VARIABLES,  *
CF
(:‘.l.lll;l...l.'..l.ll.‘.“ll.l.l.l.‘.l'....ll."..O‘l""";l.il.lll.‘.t.l.i.'.l.l‘l‘

INTEGER COUNT,BINT,DERROR,ROUND

REAL NORMALX(100,6),XT(6,100),BRROR(100),DX6,6),LOGNOR,SCAL,

*«  XSTAR(100,6),KOPT,SUMK,KBAR

DOUBLE PRECISION XTX(6,6), VECMAX(6), VECMIN(G),EIGVALLS),

* BINI6), ¥(100),BOLS(6),BRP(6),BLIU(6),

. MSEOLS MSERP,MSELIU, TMSLS1,TMSRP1,TMSLI1,

. TMSLS2, TMSRP2, TMSLI2, AMSLS1,AMSRP1,AMSLI1,

. AMSLS2,AMSRP2,AMSLI2 PD1,PD2,

. DRP1,DRP2,DLK1,DLK2,DLS1,DLS2,TMSLS, TMSRP, TMSLXK,

s TMSLSS,TMSRPS, TMSLKS, AMSELS,AMSERP, AMSELK,

. SDLS,SDRP,SDLK,SD,MSLS1,MSRP1, MSLK1,MSLS2,MSRP2, MSLK2,
. MMSLS, MMSRP,MMSLK,YSTAR(100),BINITS(6)

CHARACTBR DISTRI*20

COMMON /SEED/IX,KK/DIM/M

*  /PARA/DMEAN,SIGMA

*  /CORREL/CORR1,CORR2

IX = 13

KK =0

READ(S,*) COUNTM,N

IF (N.EQ4) THEN
READ(S,*) CORR1

BLSR IF (N.EQ.6) THEN



20

READ(S,*) CORR1,CORR2

BRND IF

RBAD(5,*) DERROR

IF (DERROR.EQ.1) THEN
READ(S,%) DMBAN,SIGMA
DISTRI = 'NORMAL'

'BLSE IF (DRRROR EQ.2) THEN
READ(S,*) C,P,DMRAN,SIGMA
DISTRI = 'SCALE-CONTAMINATE'

ELSE IF (DERROR.EQ.3) THEN
READ(S,*) DMEAN,SIGMA
DISTRI = TLOGNORMAL'
END IF
DO 5 ROUND=1,COUNT
CALL GENX(X.N)
CALL STDDZE(XX XSTAR,N)
CALL CALXTX(XSTAR,XTX,N)
CALL RIGEN(XTX,N,RIGVAL,VECMAX,VECMIN)
' DO 11 BINT=1,2 ‘
IF (BINT.EQ.1) THEN
DO 20 I=1N
BINT(I) = VECMAX(T)
CONTINUE
BLSE IF (BINT.EQ.2) THEN
DO 21 I=1,N
BINIT(I) = VECMING)
CONTINUE
END IF
IF (DERROR EQ.1) THEN
. DO 25 I=i,M
ERROR(T) = NORMAL(DMEAN,SIGMA)
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100

101

CONTINUE
ELSE IF (DERROR.EQ.2) THEN
DO 100 I=1,M
ERROR(l) = SCAL(C,P,DMEAN,SIGMA)
CONTINUE
ELSE JF (DERROR.BEQ.3) THEN
DO 101 I=1,M .
ERROR() = LOGNOR(DMEAN,SIGMA)
CONTINUE
END IF
CALL BUILDY(XSTAR,BINIT,ERROR,Y,N)
IF (DERROR.EQ3) THEN
CALL BOXCOX(XSTAR,Y,N)
END IF
CALL RP(XSTAR,Y,BRP,KOPTN)
CALL LIUCXSTAR,Y,BOLS,BLIU,N)

CALL MSE(BINIT,BOLS,BRP BLIU MSEOLS , MSERP MSELIU,N)

SUMK = SUMK+KOPT
IF (BINT.EQ.1) THEN
TMSLS1 = TMSLS1+MSEOLS
TMSRP1 = TMSRP1+MSERP
TMSLI1 = TMSLI1+MSBLIU
MSLS1 = MSEOLS
MSRP1 = MSERP
MSLK1 = MSELIU
ELSE IF (BINT.EQ.2) THEN
TMSLS2 = TMSLS2+MSEOLS
TMSRP2 = TMSRP2+MSERP
TMSLI2 = TMSLI2+MSELIU
MSLS2 = MSBOLS
MSRP2 = MSERP
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MSLK2 = MSELIU
END IF :
11 CONTINUE
MMSLS = (MSLS1+4MSLS2)22
MMSRP = (MSRP1+MSRP2)12
MMSLK = (MSLK1+MSLK2)/2
TMSLS = TMSLS+MMSLS
'TMSRP = TMSRP+MMSRP
TMSLK = TMSLK+MMSLK
TMSLSS = TMSLSS+MMSLS**2
TMSRPS = TMSRPS+MMSRP**2
TMSLKS = TMSLKS+MMSLK**2
5 CONTINUE ‘
KBAR = SUMKACOUNT®2)
AMSELS = TMSLS/COUNT
AMSERP = TMSRP/COUNT
AMSELK = TMSLK/COUNT
SDLS = SD(TMSLSS,AMSELS,COUNT)
SDRP = SD(TMSRPS,AMSERP,COUNT)
SDLK = SDXTMSLKS,AMSELK, COUNT)
AMSLS1 = TMSLS1/COUNT
AMSRP1 = TMSRP1/COUNT
AMSLI1 = TMSLI1/COUNT
AMSLS2 = TMSLS2/COUNT
AMSRP2 = TMSRP2/COUNT
AMSLI2 = TMSLI2/COUNT
PD1 = ((AMSELS-AMSERP)/AMSELS)*100
PD2 = ((AMSELS-AMSELK)/AMSRLS)*100
DRP1 = ((AMSELS-AMSERP)/AMSERF)*100
DRP2 = ((AMSELK-AMSERP)/AMSERP)*100
DLK1 = ((AMSELS-AMSELK)/AMSELK)*100



DLK?2 = ((AMSERP-AMSELK)/AMSELK)*100
DLS1 = ((AMSERP-AMSELS)/AMSELS)*100
DLS2 = ((AMSELK-AMSELS)/AMSELS)*100
WRITE(6,400)
400 FORMAT(///,22X,'SUMMARY OF RESULT")
WRITE(6,405) COUNT
405 FORMAT(/,2X, ROUND OF SIMULATION
WRITE(6,410) M
410 FORMAT(2X, SAMPLE SIZE
WRITE(6,415) N
415 FORMAT(2X, NUMBER OF INDEPENDENT VARIABLES
IF (DERROR.EQ.1.OR.DERROR.EQ.3) THEN
WRITE(6,417) DISTRI
417 PFORMAT(2X,DISTRIBUTION OF ERROR IS 'A18)
WRITE(6,418) DMEAN,SIGMA
418 FORMATQIX,DMEAN ='F4.1,5X,'SIGMA = 'F5.2)
ELSE IF (DERROR.EQ.2) THEN
WRITE(6,417) DISTRI
WRITE(6,419) C,P,DMEAN,SIGMA
419 PORMAT(12X,'C ='F4.1,3X,P ='F5.2,3X, DMEAN ='F4.1,3X,
*SIGMA =',F5.2)
END IF
WRITE(6,420) CORR1

420 FORMAT(2X, MULTICOLLINEARITY AMONG X1,X2 AND X3 _

IR (N.EQ.6) THEN
WRITE(6,430) CORR2
430 FORMAT(2X,MULTICOLLINEARITY BETWEEN X4 AND X5
END IF
DO 435 I=1,2
IR (1.BQ.1) THEN
WRITE(6,440)

'14)

’J4)

14)

:,F5.2)

| *F52)
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440 FORMAT(/,2X,'TRUE BETA IS RIGENVECTOR CORRESPONDING TO LARGBEST ',

*  'BIGENVALUB) .
WRITE(6,441)
41  FORMAT(2X,AVERAGE MEAN SQUARE ERROR)
WRITE(6,442) AMSLS1
442  FORMAT(2X,LEAST SQUARE METHOD
WRITE(6,443) AMSRP1

,F9.4)

443 FORMAT(2X,RIDGE REGRESSION WITH PRIOR INFORMATION METHOD :',F9.4)

WRITE(6,444) AMSLI]
444  PORMAT(2ZX,LIU KBIIAN “$ METHOD
BLSE IF (1.BQ.2) THEN
WRITE(6,445)

!, F9.4)

445 FORMAT(/,2X, TRUE BETA IS EIGENVECTOR CORRESPONDING TO SMALLEST ',

»  'RIGENVALUE)
WRITE(6,442) AMSLS2
WRITE(6,443) AMSRP2
'WRITE(6,444) AMSLI2 °
END IF
435 CONTINUR
WRITE(6,500) AMSELS
500 FORMAT(/,2X,AVERAGE MBAN SQUARE ERROR LS
WRITE(6,501) AMSERP
501 FORMAT(2X,'’AVERAGE MEAN SQUARE ERROR RP
WRITE(6,502) AMSELK
502 FORMAT(2X,'AVERAGE MEAN SQUARE ERROR LK
WRITE(6,503) SDLS
503 FORMAT(2X, STANDARD DEVIATION OF MSE(LS)
WRITE(6,504) SDRP
504 FORMAT(2X,'STANDARD DEVIATION OF MSE(RP)
WRITE(6,505) SDLK |
505 FORMAT(ZX, STANDARD DEVIATION OF MSE(LK)

=',F10.4)
=',F10.4)
=',F10.4)

=',F10.4)

='R10.4)

='F10.4)
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WRITE(6,800) PD1
800 FORMAT(/,2X, AMSE(LS) HAVE MORE AMSB THAN AMSE(RP) ='F104, %
WRITE(6,810) PD2
810 FORMAT(2X,'AMSE(LS) HAVE MORE AMSE THAN AMSE(LK) ='F104,' %'J)
IF ((AMSERP.LT.AMSELS).AND (AMSERP LT AMSELK)) THEN
WRITE(6,815) DRP1
815 PORMAT(2X,’AMSE(RP) HAVE LESS AMSE THAN AMSE(LS) ='F10.4,' %)
WRITE(6,820) DRP2 |
820 FORMAT(2X,'AMSE(RP) HAVE LESS AMSE THAN AMSE(LK) =',F104,' %)
BLSE IF ((AMSELK.LT.AMSELS).AND.(AMSELK.LT.AMSBRP)) THEN
| WRITE(6,825) DLK1
825 PORMAT(2X, AMSE(LK) HAVE LESS AMSE THAN AMSE(LS) =", F104,' %"
WRITE(6,830) DLK2
830 PRORMAT(2X,AMSE(LK) HAVE LESS AMSBE THAN AMSE(RF) =',F10.4, %)
ELSE
WRITE(6,835) DLS1
835 FORMAT(2X,’AMSE(LS) HAVE LESS AMSE THAN AMSE(RP) =',F10.4, %)
WRITE(6,840) DLS2 '
840 FORMAT(2X, AMSE(LS) HAVE LESS AMSE THAN AMSE(LK) -*,#10.4.7 %
END IF
WRITE(6,845) KBAR
845 FORMAT(2X,'AVERAGE OF VALUE K ='F10.5)
STOP
END
CrRes 32X RS0 RBR RIS RBEESTUS RS LR RN P ARBVSEBEEEERE
SUBROUTINE GENX(X,N)
RBAL X(100,6),Z(100,7),NORMAL
COMMON /SEED/IX,KK
. /DIMM
*  JCORREL/CORR1,CORR2
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DO 10 I=1M
Z@AN+1) = NORMAL(0.0,1.0) .
DO 20 J=1,N
1R (1.BQ.1) THEN
X)) = 1.0
ELSE IF (J.GR.2.AND.J.LE.4) THEN
Zq1,7) = NORMALA0.0,1.0)
X(1,J) = SQRT(1-CORR1)*Z(L,J)+SQRT(CORR1)*Z(N+1)
BLSE IF (J.GE.5) THEN
2(1,7) = NORMAL(0.0,1.0)
X(,T) = SQRT(1-CORR2)*Z(1,J)}+SQRT(CORR2) *Z(I,N+1)
END IF
20 CONTINUE
10 CONTINUE
RETURN
END
C'l."“..‘..'.“..i...."*..‘.“‘.".“.“.““.

SUBROUTINE RANDOM(IX,IY,FLY)

IY = IX*16807

IF (IY.LT.0) IY = IY+2147483647+1

FLY = IY

FLY = FLY/2147483647

IX = IY

RETURN

END

CPIvsSSERILEEINESIRIEREESIATIRIIBLRSIERIVIRASERS

SUBROUTINE BOXCOX(X,Y,N)

DOUBLE PRECISION Y(100), YTRANS(100), YSTAR(100),SUM,GEOMN,

* ' XTX(6,6),XTY(6),SIG2,BOLS(6),S(3)

REAL X(100,6),LAMMIN,LAMOPT,LAMMAX,LAMB

INTEGER FAIL



CHARACTER STATUS®10
- COMMON /DIMM
SUM = 0.0
DO 5 Im1,M
IF (Y(l).LE.0) THEN
FAIL = FAIL+1
WRITE(6,6)

6 FORMAT(' CAN NOT FIND GEOMETRIC MEAN")

WRITE(S,7) FAIL
7 RORMAT( FAIL ='13)
RETURN
END IF
5 CONTINUE
DO 10 I=1.M
SUM = SUM+DLOG(Y())
10 CONTINUE
GBOMN = DEXP(SUM/M)
DO 20 I=1,M
YSTARQ) = Y()/GROMN
20 CONTINUE :
LAMMIN = -15.00
LAMMAX = 16.00
E = 001
15 LAMOPT = (LAMMIN+LAMMAX)/2
DO 40 I=1,3
LAMB = LAMOPT+(I-2)*B
DO 30 Ja1.M
IF (LAMB.NE.0) THEN

YTRANS(Q) = ((YSTAR())**LAMB)-1)/LAMB

BLSE

YTRANS(J) = DLOG(YSTAR(J))

188



189

END IF
30 CONTINUB | .
CALL OLS(X,YTRANS XTX XTY,SIG2,BOLS,N)
SQ) = SIG2
40 CONTINUE
IF (S(2).LB.S(1).AND.S(2).LB.S(3)) THEN
STATUS = 'OPTIMUM'
" BLSE IP (S(1).GT.S(3)) THEN
LAMMIN = LAMOPT
BLSE IF (S(1).LT.S(3)) THEN
LAMMAX = LAMOPT
END IF
IF (LAMMAX-LAMMIN).GT B AND (STATUS NE.'OPTIMUM)) GOTO 15
DO 50 Is1M
IF (LAMOPT.NE.0) THEN
Y(I) = ((YSTAR@)**LAMOPT)-1)/LAMOPT
BLSE
Y(D) = DLOG(YSTARQ))
END IF
50 CONTINUE
STATUS = ‘RETURN'
RETURN
END
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SUBROUTINE STDDZE(X,XSTARN)
REAL X(100,6),KSTAR(100,6)
DOUBLE PRECISION BINTT(6), Y(100),SUMX(6),SUMXSQ(6),SUMY,SUMYSQ,
. ‘)BAR(G),YBAR,SYY,SXX(G).BINI'fﬁ(G),YSTAR(lOO)
COMMON /DIMM
DO 10 J=2,N
SUMX(J) = 0.0
SUMXSQ(Q) = 0.0
DO 10 I=1.M
SUMX() = SUMX()+X(,J)
SUMXSQQ) = SUMXSQU)+X(.T)**2
10 CONTINUE
DO 15 Ja2 N
XBAR(J) = SUMX()M
SXX(J) = SYY(SUMXSQ(J) XBAR(J), M)
15 CONTINUE
DO 20 J=1,N
DO 20 I=1 M
| IF (JBQ.1) THEN
XSTAR(,)) = X(LJ)
ELSE
XSTAR(,J) = ((X(1,J)-XBAR))/SXX(}))
END IF
20 CONTINUE
RETURN
BND

C..‘U.'lt'.!‘.—--- [ SEVETSIRBEBILEBERS
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REAL FUNCTION NORMAL(DMEAN,SIGMA)
COMMON /SBBD/IX,KK '

PI = 3.1415926

IF (KK.EQ.1) GOTO 10

CALL RANDOM(X,IY,FLY)

R1=FLY |

CALL RANDOM(X,IY,FLY)

R2 = FLY
Z1 = SQRT(-2*ALOG(R1))*COS(2°PI*R2)

Z2 = SQRT(-2*ALOG(R1))*SIN(2*PI*R2)
NORMAL = Z1°SIGMA+DMEAN |

KK =1

RETURN

10 NORMAL = Z2*SIGMA+DMEAN

KK = 0 |

RETURN

END

Covenssssarnnsnsssnanonsnsunisevinsasassavhisnas

REAL FUNCTION SCAL(C,P,DMEAN,SIGMA)
REAL NORMAL,C,ADJSIG

COMMON /SERD/IX,KK

ADISIG = C*SIGMA

CALL RANDOM(IX,IY,FLY)

IF (FLY.LE.P) THEN

SCAL = NORMAL(DMEAN,ADJSIG)
ELSE
SCAL = NORMAL(DMEAN,SIGMA)
END IF
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REAL FUNCTION LOGNOR(DMEAN,SIGMA)
REBAL NORM,NORMAL .
COMMON /SEED/IX,KK
NORM = NORMAL(DMEAN,SIGMA)
LOGNOR = EXP(NORM)
RETURN
BND
ot L LT T e T T
SUBROUTINE BUILDY(X,BINIT,ERROR,Y,N)
REAL X(100,6),BRROR(100)
DOUBLE PRECISION BINIT(6),TY(100),Y(100)
COMMON /DIMM
' DO 101=1M
TY() = 0.0
DO 15 K=1,N
TY() = TYI)+X K)*BINIT(K)
15 CONTINUE
Y(@) = TY(D)+ERROR()
10 CONTINUE
RETURN
o

CEPSREES RIS LEEEEBIREERLERERIIBENREERESEEHSRBEIER Y
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SUBROUTINE EIGEN(A,N,EIGVAL,VECMAX, VECMIN)
DOUBLE PRECISION 4(5,6)x(o,o),movmc),vam(a),vucuun(c)
CALL JACOBI(N,A,1,NR.X) |
DO 11=1,N
EIGVAL() = AQLI)
VECMAX() = X(1,2)
VECMINQ) = X{,N)
1 CONTINUE
RETURN
' END
o PR—
SUBROUTINE JACOBI(N,Q,JVECM,V)
DOUBLE PRECISION Q(6,6),V(6,6),1H(6).X(6)
IR (JVEC) 10,15,10
10 DO 14 I=1,N
DO 14 J=1,N
IR (1)) 12,11,12
11 V@) =10
GOTO 14
12 VA) =00
14 CONTINUR
I5M =0
17 MI = N-1
DO 30 I=1,MI
X@) = 00
MJ = I+1
DO 30 J=MIN
IF (X(@)-DABS(Q(.)) 20,20,30
20 XI) = DABS(QQ,D)
IHQ) = J
30 CONTINUE
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40 DO 70 I=1MI
IR (-1) 60,6045 :
45 IF (XMAX-X(D)) 60,70,70
60 XMAX = X()
IP =1
JP = IH()
70 CONTINUE
EPSI = 0.00000001
IR (XMAX-EPSI) 1000,1000,148
148 M = M+1
IR (QQP.IP)-QUP,JP)) 150,151,151
150 TANG = -2.0*Q(IP JP)(DABS(Q(P,IP)-Q(JP JP))+DSQRT((QAP IP)
*  -QUPJP))**2+4.0°Q(IP JP)**2))
GOTO 160 |
151 TANG = +2.0*Q(IP,JP)/(DABS(Q(IP IP)-Q(UP,JP))+DSQRT((Q(P,IP)
b -QIP,JP))**2+4.0*Q(IP JP)**2))
160 COSN = 1.0/SQRT(1.0+TANG**2)
SINE = TANG*COSN
QI = Q(IP.IP)
Q(IP,IP) = COSN**2%QII+TANG*(2.0*Q(IP JP)+ TANG*Q(IP,JP)))
QQUPJP) = COSN**2%Q(JP,JP)-TANG*(2.0*Q(IP,JP)-TANG*QII))
QQP,JP) = 0.0
IR (QUP.IP)-QUIP JP)) 152,153,153
152 TEMP = QQP,IP)
QdP,IP) = QUIPJP)
QUP,JP) = TEMP
IF (SINE) 154,155,155
154 TEMP = +COSN
GOTO 170
155 TEMP = -COSN
170 COSN = ABS(SINE)
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SINE = TEMP
- 153 DO 350 I=1,MI
IF (I-IP) 210,350,200
200 IF (-JP) 210,350,210
210  IF @H(D)-IP) 230,240,230
230 IR (IHQ)-JP) 350,240,350
240 K = IH(Q)
250 TEMP = Q1K)
QLK) = 0.0
MJ = I+1
X() = 0.0
DO 320 JxMJN
IR (X(1)-DABS(Q(J))) 300,300,320
300  XQ@ = DABS(QQ.D)
TH() =
320 CONTINUE
Qd,K) = TEMP
350 CONTINUR
X{apP) = 0.0 )
X(JP) = 0.0
DO 530 I=1N
IR (-IP) 370,530,420
370 TEMP = QIIP)
QQIP) = COSN*TEMP-+SINE*Q(,JP)
IF (X()-DABS(Q(LIF)) 380,390,390
380 X() = DABS(Q(IP))
TH() = IP
390 Q(IJP) = -SINB*TEMP+COSN*Q(LJP)
IF (X(@)-DABS(Q(1,JP))) 400,530,530
400  X() = DABS(QUIP))
IH() = JP



420
430

450

480

500

510

GOTO 530

IR (1-JP) 430,530,480

TEMP = Q(IP,I)

Q@P,]) = COSN*TEMP+SINE*Q(,JP)
IF (X(IP)-DABS(Q(IP,1))) 440,450,450
X@p) = DABS(QQP,I))

IH@P) = I

QQ,JP) = -SINB*TEMP+COSN*Q(,JP)
IF (X(1)-DABS(QQ,JP))) 400,530,530
TEMP = Q(IP,I)

QQP,]) = COSN*TEMP+SINE*Q(JP,I)
IR (X(P)-DABS(Q(IP,I))) 490,500,500
X(IP) = DABS(Q(IP,I))

IH(P) = I

QUP,) = -SINB*TEMP+COSN*Q(JP,I)
IF (X(IP)-DABS(Q(JP,I))) 510,530,530
X(Ir) = DABS(QUP.I))

IH(JP) = 1

530 CONTINUE

IF (JVEC) 540,40,540

540 DO 550 I=1,N

550

TEMP = V(I,IP)
V(,IP) = COSN*TEMP+SINE*V(1,JP)
V(,JP) = -SINE*TEMP+COSN*V(I,JP)

GOTO 40

1000 RETURN

END

CRESRIRNALITUEIVEERSBUS LSS B LB RUSIN LSS BB ESB RV S
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SUBROUTINE OLS(X,Y XTX XTY,SIG2,BOLS,N)
RBAL X(100,6),XT(6,100)
DOUBLERE PRECISION X’!X(G,G)MV(G.O)J{TY(G),BOLS(Q.Y(100)
DOUBLE PRECISION YTY,BTXTY,SIG2
COMMON /DIMM
DO 10 I=1 M
DO 10 J=1,N
XTQ) = X@J)
10 CONTINUE
DO‘ 15 I=1N
DO 15 J=1 N
XTXd,J) = 0.0
DO 15 K=1 M
XTX(J) = XTX@AI)+XTAK)*X(K.])
15 CONTINUR
DO 2§ I=1,N
XTY() = 0.0
DO 25 K=1 M
XTY() = XTY@ARXTA,K)*Y(K)
25 CONTINUE
CALL INVRS(XTX, XTXINV,N) -
DO 35 I=1 N
BOLS() = 0.0
DO 35 K«1,N
BOLS(I) = BOLSI)+XTXINV({,K)*XTY(K)
35 CONTINUR
YTY = 0.0
DO 40 I=1,M
YTY = YTY+Y(Q)**2
40 CONTINUR
BTXTY = 0.0
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DO 45 I=1 N
BTXTY = BTXTY+BOLS()*XTY()
45 CONTINUE
SIG2 = (YTY-BTXTY)AM-N)
RETURN
END
CAsassessensnsessasssssssssssrnssssssassnsssnnsss
SUBROUTINE RP(XSTAR,BRP,KOPT,N)
REAL X(100,6),XT(6,100),XSTAR(100,6)
RBEAL KOPT,TBOLS,JBAR,SIG2, TRXTXI,TRACE,FINDK
DOUBLE PRECISION BRP(6),XTX(6,6) XTY(6),BOLS(6),Y(100)
DOUBLE PRECISION XTXINV(6,6), XTXRP(6,6),XTYRP(6), YSTAR(100)
COMMON /DIMM
CALL OLS(XSTAR,Y,XTX XTY,SIG2,BOLS,N)
TBOLS = 0.0
DO 25 I=1 N
TBOLS = TBOLS+BOLS(T)
25 CONTINUE
JBAR = TBOLS/N
KOPT = FINDK(N,SIG2,BOLS JBAR XTX)
DO 10 I=1N
DO 10 J=1 N
IF (1.EQJ) THEN
XTXRPQ,J) = XTX{ J)+KOPT
ELSE
XTXRP(,J) = XTX(1J)
END IF
10 CONTINUE
DO 30 I=1N
XTYRP(I) = XTY@)+KOPT*JBAR
30 CONTINUB '
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CALL INVRS(XTXRP,XTXINV.N)
DO 40 I=1,N .
BRP(l) = 0.0
DO 40 K=1,N
BRP(I) = BRP@H+XTXINV(,K)*XTYRP(K)
40 CONTINUE
RETURN
END
Cllllt“.l...‘."‘.U‘l.l'.t.lll.‘.t.l‘tll‘t‘.l..‘
REAL FUNCTION FINDK(N,SIG2,BOLS,JBAR XTX)
REAL JBAR, TRACE,TBJ
DOUBLE PRECISION BOLS(6),XTX(6,6),XTXINV(6,6),S1G2
INTEGER P
CALL INVRS(XTX, XTXINV,N)
TRACE = 0.0
DO § I=1N
DO § J=1,N
IF (LBQ.J) THEN
TRACE = TRACE+XTXINV(,J)
_ END IF 8
5 CONTINUE
TBJ = 0.0
‘DO 10 I=1,N ,
" TBI = TBI+(BOLS{)-JBAR)**2)
10 CONTINUE
P=N
IF (TBJ.GT.(SIG2°TRACE)) THEN
FINDK = (P*SIG2)TBI<SIG2°TRACE))
ELSE
FINDK = (P*SIG2)/TB]
END IF



RETURN
END
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SUBROUTINE LIU(KSTAR,Y,;BOLS,BLIUN)
RBAL X(100,6),XT(6,100),D(6,6),XSTAR(100,6)
DOUBLE PRECISION XTX(6,6),XTY(6),BOLS(6),BLIU(6) XTXLIU(G,6),
. XTYLIU(6),S1G2, XTXINV(6,6),Y(100), EIGVAL(6),
. VECMAX(6),VECMIN(6), YSTAR(100)
COMMON /DIMM
CALL OLS(XSTAR,Y,XTX XTY,SIG2,BOLS N)
DO 15 1N
DO 15 Jul N
IF (.BQ.J) THEN
XTXLIUQS) = XTX(A)%1
ELSE
XTXLIUQ,J) = XTX(,%)
END IF
15 CONTINUE
CALL BIGEN(XTX,N,EIGVAL,VECMAX,VECMIN)
CALL DOPT(BOLS,SIG2,EIGVAL,D,N)
DO 30 I=1N
XTYLIUQ) = XTY(I)+D(I,I)*BOLS()
30 CONTINUE
CALL INVRS(XTXLIU XTXINV,N)
DO 40 I=1,N
BLIUQ) = 0.0
DO 40 K=1,N
BLIU(T) = BLIU(@)+XTXINV(I,K)*XTYLIU(K)
40 CONTINUE
RETURN
END
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SUBROUTINE DOPT(BOLS,SIG2,BIGVAL,D,N)

REAL D(6,6) .
DOUBLR PRBCISION BOLS(6),EIGVAL(6),P1(6),P2(6),S1G2
' COMMON /DIMM

DO 10 I=1,N

P1(l) = EIGVAL(I)%(BOLS(I)**2)-S1G2)
P2(I) = (BIGVAL(Q)*(BOLS()**2))+SIG2
DQ.I) = P1()/F2(Y)
10 CONTINUE
RETURN
END
Crssssnsssersanssssrnnasssstunssssssunnssssanaes
'SUBROUTINE CALXTX(X.XTX,N)
REAL X(100,6),XT(6,100)
DOUBLE PRECISION XTX(6,6)
COMMON DIMM |
DO 10 In1,M
DO 10 J=1N
XTd,0) = X1J)
10 CONTINUE
DO 15 I=1,N
DO 15 I=1N
XTX(J) = 0.0
DO 15 K=1,M
XTX(J) = XTXQAI)+XTLK) XK, ))
15 CONTINUE
RETURN
END



SUBROUTINE INVRS(X,XINV,N)
DOUBLE PRECISION X(6,6) XINV(6,6),A(6,6)
DO 1I=I,N
DO t J=I,N
AQJ) = X(1J)
1 CONTINUE
DO 20 K=1,N
AK.K) = -1.0/AK,K)
DO 5 I=1,N
IR (@-K).NE.0) AQK) = -AQK)*A(K,K)
S CONTINUE
DO 10 I=1,N
DO 10 J=1,N
IF ((d-K)*(J-K)).NE.0) AQJ) = A(,7)-A(,K)*A(K.])
10 CONTINUE ‘
DO 15 J=1,N
IF ((J-K).NE.0) A(K,J) = -A(KJ)*A(K.K)
15 CONTINUB
20 CONTINUE
DO 25 I=1,N
DO 25 J=1,N
XINV{@,J) = -AQ,J)
25 CONTINUB
RETURN
END
P h S s R as R Is R s NSNS SE RIS EBERIESNUSASISIEY
DOUBLE PRECISION FUNCTION SD(YSQR,YBAR,COUNT)
DOUBLE PRECISION YSQR,YBAR
INTEGER COUNT
SD = DSQRT((YSQR(COUNT*(YBAR**2)))ACOUNT-1))
RETURN
END



DOUBLE PRECISION FUNCITION SYY(YSQR,YBAR,COUNT)

DOUBLE PRECISION YSQR,YBAR | .

INTEGBR COUNT

SYY = DSQRT(YSQRCOUNT*YBAR**2)))

RETURN

o

Castussnsssssnsrssnsnsrsnsnssarnounsionnsinfosorses

SUBROUTINE MSE(BINITS,BOLS BRP,BLIU,MSEOLS, MSERP,MSELIU,N)

DOUBLE PRECISION BINITS(6),BOLS(6),BRP(6),BLIU(G)

DOUBLE PRECISION MSEOLS,MSERP,MSELIU

COMMON /DIMM

MSEOLS = 0.0

MSERP = 0.0

MSELIU = 0.0

DO 10 I=1,N
MSEOLS = MSROLS+EBINITS()-BOLS())**2
MSERP = MSERP +(BINITS(1)-BRP(D))**2
MSEBLIU = MSELIU+BINITS()-BLIU())**2

10 CONTINUE
RETURN
END
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